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Abstract

This article uses elementary methods such as congruence formula, recursive sequences, and Pell
equation to prove that indefinite Diophantine equation 5x(x + 1)(x + 2)(x + 3) = 42x(x + 1)(x + 2)(x
+ 3) has a unique positive integer (x, y) = (6, 3). Also, All 20 groups of integer solutions of the equa-
tion are found.
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1. 5IEE4ie

KT px(x+1)(x+2)(x+3)=ay(y+1)(y+2)(y+3), H(p,q)=1p,qe N XEHAE T IEEL
R FC[A]-[11], CAFZEERNLEE. 19714ECohniEM] T4 p=1q=21, RE 7 —HIEEEH
i (x,y)=(54) [1]: 19824FEAAMAEN T 2 p=1,q =5 I, NE T FEAH —4LIEBER (x, y)=(12) [2]:
19OVEZ HIHEM 724 p=1,q="7 1, AETFEOH EREM (x,y)=(4,2) [3]: 20224 PR SiE 124
p=50=9M, ANEHFA EREME (X, y)=(65) [4]. EXTF (p,q)=(542) 8 1A 5E )7 Fe IERER T
i) REATI A MR U o DRI B A SORS PE AR 66l 3848 (p,q) = (5,42) T TE, ERH 1

EH A

5x(x-+1)(x+2)(x+3) = 42y(y+1)(y+2)(y +3) (1)
A EEEELR (x, y)=(6,3) -
2. MEFHAIR
Fek Q)N
[5(x +3x+1)T ~210(y? +3y+1) =185 @
SRR X2~ 2102 = ~185 {14 M MOHUR T 1 B AN 45 K4
X, + Y, /210 = #(5+/210)(u, +v,+/210 ) = (5+H)(29+2M) neN
X +7,4/210 = +( 5+\/f)(u +v,4/210 ) ( 5+\/Z)(29+2\/E) neN

Horf1544/210 2778 X2 —210Y2 =—185 15/ IEEEHU#, 29+ 24210 J2:Pell J7 78 u? — 210v? =1 (1 5: A< i
[11]. G5y, =y ., TRITHE(2) WIS Z 2

(2y+3) =+4y +5neN 3)
B o BAEANE J7 FE QL) 2 T AR R
Y =98Ys = Yous Yo =1 ¥, =39 (4)
Uy, =58U, —U,, Uy =1, u =29 (5)
V,, =58v, -V, ,, V,=0,v, =2 (6)
Uy, =U2 +210v2 =2u’ —1, v,, =2u,V, )
Yy, =U, +5v, (8)
Up.zen = (~1)" U, (Modu,, ) 9)
Vi o = (—1)k v, (modu,,) (10)
Yorzn =(~1) ¥, (modu,, ) (11)
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NHEASCR 7 ARSI (3)AAE N =0,-1 oL, R Q)R AU, BEmRAS TE()K 4
IS Sy 8

3. it
3.1. H(2y +3)? =4y, +5Kf
BB FELR A T IRnAERS, 4y, +5 AT I NIEARSCEAN LT LA G .

511 % 2m Hm>0, mu(ﬂOVZm+5]:_(“mfl‘3‘ijo

B 4 2m Hom>0 i, gi(5)ar i 24 v, » HLER(7)sUATH Uy, = 207 —1=1 (mod8) ; u, =1 (mod4),
ﬂ%‘%ﬁ(_—l)zl, [ 2 le, (ile,
um u2m u2m

[l 1t
(+20v +5J [+20v +10u? j (+40umvm +10u§1J
u2m

B up +4v, | (-1 Uy,
uZm u2m u2m um um i4vm

- 2 1210v2 210v2 + +4v )

B u, £4v, U, +4v

[ 226 ) 2 113 | (u, 4y,
u, £4v, u, £4v, Jlu, £4v, 113

BIE 2 ¥ 4y, +5 5 FUis Mn=0,-1(mod2°x3 x5)

UER X751 {4y, + 5 BUARIF FRERAE B .

mod 311, #HFfkn=1,3(mod5), iXZFE NIk 4y, +5=161,55(mod311), ifij 161. 55 Jy mod 311 f#°F
JrAERI A, ST HERR n=1,3(mod5) FTE T, Rl n=0,2,4(mod5) . AR, N AN E AR R
A

mod 41, ¥k n=12,356(mod8), A n=0,4,7,12,15,20,24,32,39(mod40) .

mod 661, #fxn=3,4,6,8(mod10), & n=0,7,12,15,20,32,39(mod40)

mod 239, 47279, HE¥kn=7,12,15(mod20), F|4 n=0,20,39(mod40).

mod 17, 11467, Ffxn=2,4,56,7(mod9), A n=0,39,80,100,120,180,199, 260,279, 280,300,359
(mod360) .

mod 61, #Fkn=5(mod15), 4 n=0,120,180,300,359(mod360) -

mod 37, #ixn=12(mod36), %4 n=0,180,359(mod360) .

A SRR TR 77 EHERR n =180(mod 360) . X T n=180(mod360), 4 n=360k+180, #
k =2k, JWn=720k +180 # n=4(mod16), TixfT /75 {4y, +5} B mod 1231 A HFEk n=4(mod16) ,
#ik=2k +1, Mn=12(mod16), [FHXIT 751 {4y, +5} H mod 1231 thu/Hfk n=12(mod16) -

45 LTIk n=0,-1(mod 2° x 3 x5) ,

2m

5|3 3 i&nEO(m0d23><32><5) » WAy, +53FHAHEn=0
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BRI #n20, FAn=0(mod2’x3 x5), M4 n=2x(4k+1)xFx5x2', t=2. &I m A

2',3x2",5x2' 2 —, MI(8)F1(11) LA K5I FE 2 nl 15
4y, +5=4u, +20v, +5=+20v,, +5(modu,, )

v [ 4y, +5 +20v,,, +5 u, £4v,
)
{u,, +4v,,} X mod 113 914351 R0 56, 1 {2') F mod 56 37l 4551 JEL A 3.
B L A {u, +4v, b, EEEEARE m A E
2',  t=0(mod3)
m=45x2', t=1(mod3)
3x2', t=2(mod3)

A% 1.

Table 1. The situation of u, +4v, (mod113)
# 1 u,+4v, (mod113) KfER

t>2(mod3) 0 1 2
m(mod56) 8 24 12
U, +4v, (mod113) 69 64 2

£ LA U+ v, B mod 113 5 R, Eﬂuiﬁﬁﬁﬁﬁmiﬁ]ﬁ(um 1+1 ;‘Vm j _1, 8 (%] —1,
2

HIL PR 4y, +5 AT T4
B2 o {u, —4v, |, EEEEAER m W
_{2‘, t=1,2(mod?3)
5x2', t=0(mod3)

[ B AT AN BT U, — 4v,, #9709 mod 113 1P 5 R4, AR 4y, +5 AR 5 EREE 1 FER
2 S &4y, +5 N TFEORE. Win=0.

RZ¥n=00, B8R4y +5=32—ATH. K, 5/ 45iE,

B3 4 &n= —1(mod 23x3? ><5) » W4y, +5 R/ FTECSHA S n=-1,

W #Hnz-1, i‘ynz—l(mod23><32><5), MR 4 n=-1+2x(4k +1)x3*x5x2", t>2. XH(11)

RS
4y, +5=4y

—1+2x(4k 13252t

+5=-4y, +5(modu,)

u 71
mod 36 [KIF AR FHEIN 6, TR TFF{u,}, FATATAEFEERAK m R

t

fii ey, =19, [%j:[‘”}[“_mjo XEF R {u,) % mod 71 MFEIAEILY 36, (2]

m m

m=2
LA t=0,1,2,3,4,5(mod6) , , XM u, =56,23,63,56,23(mod 71) ¥4 mod 71 HUSF U7 AR it
R4y, +5 AT REONT IR, X5 4y, +S AP EOPIE. Bltn=-1. KZ, #Fn=-1, WEA
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4y +5=9"F— T % 5185 ik,
3.2. H(2y +3)?=—4y, +5 Bt

GIE 5 -4y +52 M HN S n=0.
B Hn=00, by >1, -4y +5<0, X5-4y +5&—MFHEF)E; #in=0, NILH
—4y, +5=-4y, +5=1" & —AFHHL.

4. TEIBIERA

SEFE A 5X(X+1)(x+2)(x+3) =42y (y +1)(y+2)(y +3) H — 4 IEHEE (x,v)=(6,3) -

B SIHLA (2y +3)° = -4y, +5=1, Hitty=-180#-2, AR AIBEAR N (-3,-2),(-2,-2),
(-1-2),(0.-2),(-3-1).(-2.-1),(-L-1),(0,-1).

H 51 BEA%I (2y +3)° =4y, +5=9, [Ht y=08i#-3, MiAHR A% H0# M (-3,-3),(-2,-3),(-1,-3),
(0,-3),(-3,0),(-2.0),(-1,0),(0,0) .

15| #5502y +3)° =4y, +5=81, Ik y=38# 6, WLIHARRMHEE N (-9,-6),(-9,3),(6,-6),
(6.3).

L5 LRI, A 5 5x(x+1)(x+2)(x+3) =42y (y+1)(y +2)(y+3) H —HIEBES#E (x,y)=(6.3) ,
E FRAFIE o
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